NSK Hand Grease Pump Unit

\

\

=

P Easy operation

Feature Can be operated by one hand, yet there is no worry to making a mistake. Grease nozzle
P Inserting by high pressure » Specifications
Insert at 15 MPa.
Type ‘ Reference no. Applications Dimensions
» No leaking NSK straight NSK HGP NZ1 o GG
Does not leak when held UpSide down. nozzle Can be used with grease ﬂttmg ® ) G
C—— | 7\ B, and C under JIS B1575 0l —
P Easy to change grease standard. by L8
Simply attach grease in bellows tubes. 220
. NSK chuck nozzle NSK HGP Nz2 Same as above. e
P Prevents entry of foreign matter However. there is no need to _
Foreign matter such as dust cannot enter since grease can be changed while in bellows tubes. press the hand pump because | = — ]
AS
e ———— the grease fitting and the nozzle L ( —
» Remaining grease come Ito contact qlue to the . 33
Can be confirmed through slit on pump. chucking mechanism at the tip. (135)
R1/8
NSK fitting nozzle NSK HGP NZ3 5
P Several nozzles . N
. L Dedicated for the - 3 drive-in ' :
Six types of nozzles and two extension pipes to choose from. o
yp pip - grease fitting. &J 11\ M6X 1.0 3z
e e 35 120
155
NSK point nozzle NSK HGP NZ4 | Used for linear guides and reets— i
pball screws which do not have
. grease fitting. Supplies grease oy _—1 T
NSK Hand Grease Pump (Reference number: NSK HGP) directly to the ball grooves, or | SL—L b _
(Contains one NSK straight nozzle) through the opening of ball s =
slide or ball slide to inside. 1%
Nozzle can
also be set in NSK flexible NSK HGP NZ5 . . . - 14HEX. 14HEX. R1/8
this direction. nozzle The tip of the flexible nozzleis | &}
_ | chuck nozzle. Used to supply —] —
/ grease to the area where hand =] s
Nozzle s —— cannot reach. ® @)
JJ 1\
1 i NSK flexible NSK HGP Nz6 Apls  14HEX. 14HEX. A1/
g Pump extension pipe Flexible extension pipe =
connects the grease pump and © o
—_— S the nozzle. & (300) e
P Specifications
3 Discharge pressure 15 MPa NSK straight NSK HGP Nz7 Rp1/8  12HEX. R1/8
@ < Spout volume 0.35¢c /shot extension pipe Straight extension pipe )
Mass of main body 240 g —— tcr? nneotT the grease pump and 124 .
(without nozzle) € nozzie. (317)
Provided nozzle 9049
Body diameter ®»38.1 NSK MCH NSK HGP Nz8 ?55 F1/s
Accessory Several nozzles for a exclulswe fitting For MCH Series grease o 4 [
NSK hand grease pump unique application can nozzie replenishment FJ—‘—M : o
with NSK straight nozzle N P o 5
N ) be attached II! I - 8 5

11 12



Il Applicable Grease Nozzle and Grease Fitting

P Grease fitting specifications » Applicable grease nozzle for Ball Screws

Aoee B oee G e Small grease fitting Tap hole for| Stendard | Straight | Chuck | D™ | Point | Fiexiole
Drive-in type Screw-in type Series Model no. grease grease | nozzle | nozzles nozzlge nozzle | nozzle
fitting fitting NZ1 Nz2 NZ3 Nz4 NZ5
(5) .
I High-
P A alccuraoy, uUss Atype O O O
clean
M6 0.75 or R1/8 (linear guide) 2] HEX0S Compact FA M5X0.8
For Compact FA Series ball screws M6X 1 or R1/8 (ball screw) General |PSS A type O O O
Transfer
equipment FSS Atype O @)
The tables show applicable nozzles and fittings for each products, series and sizes. o . Shaft dia. 12 or less — — O
Miniature, fine lead MA T p—— MG X 1 — O o o
» Applicable grease nozzles for NSK linear guides zihn;?thsgd Small equipment FA M6 X 1 — O O O
Straight | Chuck | Drive-in Point Flexible P SA Sirditidle seorlss || lad . O O O
Series Model No. Tr?ezgeo:‘iett];ﬁr Standfi;%grease nozzle | nozzles fitting nozzle nozzle Shaft dia. 40 orover | Rc1/8 - O O O
g 9 9 NZ1 NZ2 |nozzleNZ3| Nz4 NZ5 Shaftda. 2orless | o
an . -
LHO8, 10 _ _ O Stainless steel KA lead 2 or less
L LH12, 15 @3 Drive-in type O except above M6 X 1 — O O O
LH20, 25, 30, 35 M6X0.75 B type O O O VEA Shaft dia. 12 or less p2.7 — @)
LH45, 55, 65 Rc1/8 B type O O O Transfer equipment Shaft dia. 15 or over ®»3.5 — O
SH15 ®3 Drive-in type O RMA - — o
« Shaft dia. 12 or | — —
SH SH20, 25, 30, 35 M6 X 0.75 B type O O O Miniature, fine lead MS a ?a orless O
SH45, 55 Rci/8 B type O O O Shaft dia. 16 or over M6 X 1 — O O O
VH15 03 Drive-in type O Small equipment FS M6 X 1 = O O @)
VH  VH20, 25, 30,35" | M6X0.75 B type O O O Machine tools ss z::: Z:z ig - Ioevsesr '\F/"ijg - 8 8 8
VH45, 55 Rc1/8 B type O O O Sy ' = — &
TS15 ®3 Drive-in type O :
S = > Blank ERETL Shaft dia. 12 orless | M3X 0.5 — O
TS20, 25, 30, 35 M6X0.75 Bype ©) ©) O shaft end e p——— Y — o o o
s |S15 _ 03 Drive-in type O eNppL |SPftde 2orless | MBX05 | — O
LS20, 25, 30, 35 M6X0.75 B type @) O @) Transfer equipment Shaft dia. 14 or over M6 X 1 — O O O
os [SS15 ®3 Drive-in type ©) RNCT — — O
§820, 25, 30, 35" M6X0.75 B type O O O RNEL | Shaftdia. 12 orless M3X05 | — O
LW17 o3 Drive-in type O Shaft dia. 15 or over | M6 X 1 — O @) @)
Lw  |Lw21, 27, 35 M6X0.75 B type O O O RNSTL M6 X 1 = O O O
LW50 Rc1/8 B type O O O * Normally, grease fitting is not provided to NSK ball screw except Compact FA Series. Ball nut has a tap hole to install a grease fitting. The user should install
_ _ a grease fitting if necessary.
PU PUOs, 07, 09, 12 — O *For M3 X 0.5 tap hole, small fitting (screw-in type) is available. Please contact NSK.
PU15 ®»3 Drive-in type O * VFA type cannot install grease fitting. Apply grease directly to inside the nut through oil hole using point nozzle.
LU |_U05, 07,09, 12,15 — — O *MA, RMA, MS, RMS, and RNCT types have no tap hole, apply grease directly to the screw shaft and ball grooves using point nozzle.
PEO05, 07, 09, 12 = = O
PE
PE15 ®3 Drive-in type
LE LEO5, 07, 09, 12, 15 — — O
RA15, 20 ®3 Drive-in type O Applicable grease nozzles for Monocarriers
*1
RA RA25, 30, 35 MBx0.75 B type ) ) O Tap hole f Standard Straight Chuck Drive-in Flexible |MCH exclusive
RA45, 55, 65 Rc1/8 B type O O O Series Model no. ap nos for | - slancard giease nozzle | nozzles fitting nozzle | fitting nozzle
1 sliesie Tl Y NZ1 N2 | nozzleNz3 |  NZ5 NZ8
A LA25, 30, 35* M6X0.75 B type O O O
LA45, 55, 65 Rc1/8 B type O O O MCMO2 - -
HA25 30 35 M6X0.75 B type O O O MCM MCMO03, 05, 08, 10 ®3 Drive-in type O o
HA HA45. 55 Ro1/8 B type O O O MCMO6 M6X 0.75 Atype O O O
HS15 03 Drive-in type O MCH MCHO08, 09, 10 ®3 Drive-in type O
HS HS20, 25, 30, 35* M6X0.75 B type O O O * Use of NZ3 is recommended.

«1* If using a chuck nozzle, avoid interference with table and rail.
* For PU, LU, PE, and LE Series, apply grease directly to ball groove, etc. using point nozzle.
* A long threaded grease fitting is required for NSK linear guides because of dust-proof parts.

13



Il Before use of NSK Linear Guides,

Ball Screws and Monocarriers

Wipe off rust preventive oil before use if it is supplied to the products.

For the products not applied grease, try the system a few times (operate the ball slide of linear
guide, ball nut of ball screw or monocarrier slider for whole stroke length 5 to 10 times) after
supplying grease, and wipe off excess grease.

Il Intervals of checks and

15

replenishments

Although the grease is of high quality, it gradually deteriorates and its lubrication function diminishes.
Also, the grease in the ball slide, ball nut and monocarrier slider is gradually removed by stroke
movement. In some environments, the grease becomes dirty, and foreign objects may enter. Grease
should be replenished depending on frequency of use.

The following is a guide of grease replenishment intervals.

Intervals of [tems to check Intervals of replenishments

checks

3 -6 months  Dirt, foreign matters such as Usually once per year. Every 3 000 km for
cutting chips material handling system that travels more than

3 000 km per year. Replenish if checking results
warrant it necessary.

'Y

?égk;ﬁe

Bl How to replenish the grease and
volume of grease replenished

Supply required amount through grease fitting by a grease pump. Wipe off old grease and
accumulated dust before supplying new grease. If grease fitting is not used, or there is no holes for
grease replenishment, apply grease directly to the rail or to the ball groove of the screw shaft, and
move a ball slide, ball nut or monocarrier slider few strokes so the grease permeates into the ball
slide, monocarrier slider and inside the nut.

Once grease is replenished, another supply is not required for a long time. But under some
operational conditions, it is necessary to periodically replenish grease.

When replenishing using a grease pump, fill the inside of ball slide, ball nut and monocarrier slider
with grease. Supply grease until it comes out from the ball slide, ball nut or monocarrier slider area.
Move ball slide, ball nut and monocarrier slider by hand while filling them with grease, so the grease
permeates all areas.

Do not operate the machine immediately after replenishing. Always try the system a few times

to spread the grease throughout the system and to remove excess grease. Trial operations are
necessary because the resistance to sliding force and screw torque greatly increases immediately
after replenishment (full-pack state) and may cause problems. Wipe off excess grease that
accumulates at end of rail and screw shaft after trial runs so the grease does not move to other
areas.

How to replenish

1 Wipe off old greases on the rail and
screw shaft by clean cloth.

2 Supply grease until it comes out
from the ball slide or ball nut area.
Move the ball slide or ball nut by
hand while filling them with grease.

3 Full-pack state.

16



Jlll Internal space

- Inside space of the ball slide of linear guide

» LH. SH Series

17

» LW Series

Refer to the tables below for the grease quantity of full-pack state.

» RA Series

» LA Series

»HA, HSYU—X

Unit: cm® Unit: cm® Unit: cm® Unit: cm® Unit: cm®
\\\ Series LH SH  Series LW Sajiss RA Seies LA Series HA HS
Model No: .| High-foad type Slgzzr’tcig:' High-load type S;ZZﬁCE: " Model No. Model NG~ |High-load type S“per;;‘é%h"oad Model No_|High-load type S“pe?;%h"oad Model No:
] —
08 0.2 — — — ;: g 15 1.0 1.5 25 8 12 22 — g
10 0.4 — — — 57 - 20 2 2.5 30 14 18 o5 16 16
12 1.2 — — — 35 o4 25 3 3.5 35 21 29 30 57 o5
15 3 4 2 3 30 5 6 45 38 48
20 6 8 5 7 o0 52 35 6 8 55 68 86 % 42 40
25 9 13 9 12 45 10 13 65 130 177 g: 12; —
30 13 20 11 17 55 15 20
35 22 30 20 27 65 33 42
45 a7 59 42 53
55 80 100 73 93
65 139 186 — —
J Inside space of ball nut
» VH Series Unit: cm® »PU. LU Series Unit: cm®
Sorcs VH Series PU LU » Compact FA PSS, USS and FSS types
‘ Super-high-load Model No. Standard type | High-load type | Standard type | High-load type
Model No_ |High-load type) ™, b 05 0.1 — 0.1 — Shaft dia. X |Inside space  Shaftdia. X |Inside space  Shaftdia. X |Inside space  Shaftdia. X |Inside space
15 3 4 07 0.1 — 0.1 — Lead (mm) (cm?) Lead (mm) (cm?) Lead (mm) (em?) Lead (mm) (ecm?)
20 6 8 09 0.2 0.3 0.2 0.3 10X 05 0.8 15X 05 2 20X 05 3.4 25X 05 4.4
25 9 13 10 03 04 03 04 10X 10 0.7 15X 10 2 20X 10 3.2 25X 10 4.7
30 13 20 15 0.8 11 0.8 11 12X05 1 15X 20 2.8 20X 20 3.2 25X 20 3.9
35 22 30 12X10 1 15X 30 3.4 20X 30 4.6 25X 25 4.3
45 a7 59 12X20 1.2 20X 40 5.3 25X 30 5.5
55 80 100 12X 30 1.5 20X 60 7 25X 50 7.7
* For other standard ball screws, refer to the catalog "Precision Machine Components".
» PE. LE Series ; 3
: N Unit: cm
» TS Series Unit: cm®
Series Series PE LE
TS Model No™_ | Standard type |High-load type Med't‘;gg'oad Standard type | High-load type _ _ _
hloaeliivo; J Inside space of the slider of monocarrier
15 2 05 0.1 — 0.1 0.1 —
20 3 07 0.2 — 0.1 0.2 03
25 6 o9 04 0.5 0.2 0.4 0.5 Lead Inside Lead Inside Lead Inside
| |
30 9 12 0.5 0.7 0.3 0.5 0.7 el e (mm) space (cm®) higed e (mm) space (cm®) ieelNe, (mm) space (cm®)
35 15 15 1.2 1.6 08 1.2 1.6 ] ; s 83 s 40
2 0.9 MCM 1 . MCH 1 4.7
MCEMO3 10 1.8 oo 28 2 2 o 28 4.7
» LS. SS Series Unit: om? 12 1.7 5 11.6 5 10
Sor LS s 5 4.2 MCMOS 10 9.8 MCHO09 10 10
eres
- - 10 4 20 8.7 20 9.7
Medium-load |, Medium-load |, .
Lty type | ofvioadtype] T, | Highrloadtype MCMOS 20 2.1 30 7.2 VCMHO 10 17.8
15 2 3 1.5 2 30 3.6 10 19.4 20 16.2
20 3 4 3 4 MCM10 20 17.4
25 5 8 5 7 30 13.6
30 8 12 7 11
35 12 19 11 17
18




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 144
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 144
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF005b514330683059308b30bb30c330c80020003a004d00610069006c005f68216b637528005d0020005b0027004d00610069006c005f68216b63752800270020306b57fa3065304f005d0020005b514330683059308b30bb30c330c80020>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing false
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


